GST

1) Inputtax =r % of C.P r =rate of GST
2) Output tax =r% of S.P

3) net tax = Output tax - input tax
4) Amount = S.P + Output tax



Banking
PRn (n+17) where

n= number of month

1) Interest _
= 2400
earned P= monthly deposit

Maturity - NP +1 nP = total deposited
value or noney
nP + nPR(n+1)
2400

R = rate of interest



Linear inequation
-X>-Y = X<y

Graphical representation
-2<x<7/2 ,XER -2<X<_7/2,X£N

> < E
. 12 3

-2 o 71/2



Quadratic equation

x= -b* jbZ-4ac  Wherea#0
2a

standard form => ax?*tbx?+c=0



Jiscriminan
ax?>+bx+c=0

Nature of roots |yalue of roots

real and unequal | "R*vb*-4ac

no real value

b2-4ac=0 real and equal — =



Factorisation
if f(x) is divided by ax+b

then remainder=f(-b/a) ,ax+b=0

eg. if 7x2-2x+3 is divided by 2x+1
then remainder

£(-1/2) =R
in factor theorem f(x)=0




Ratio and proportion
1) ifa,bc,dearein
Continued proportion

then, a= b=c=d-
b cd e

2) Dublicate ratio = a2
b2




3)Sub dublicate ratio ~57h

3
4) Triplicate ratio =Ta3‘3

Sub triplicate =7§_
°) ratiop b



6)Componendo and dividendo

ifa C ath _ctd
_b_ — d— then, —B—a_ — c_d

7) mean proportion

if a,b,c are in continued proportionz
then b is called mean proportion

b =.%/axc




8) Third proportion
ifa,b,c are in continued proportion
then, c is called third proportion
and c= b?/a

or

apply the same formula of mean
proportional to find ¢




Matrices
addition & Subtraction of 2 matrices

a b E (} Ee btj
. —

|; cj B h tg  dth

2x2 2x2 2%2




Multiplication if matric by number

kx[ :| [‘a :j

null matrix identity or unit matrix

R I




multiplication of two matrices

b X ax+by }
i cx+dy'
2x7
%D 2%
St

. St'ﬁ 5t nd
1r3w T'coumn + Trow 2column
33w Tcolumn + 7
row 1T column + 2 row 2"tolumn

2%

d

C



multiplication of two matrices

a _— _uxv au+ bx av+by
[ > J cu+dx  cv+d
1S|tow Teolumn 1S|-1¢:)w zngommn -
l?'gw E:olumn i‘r%w E Ccl:olumn

- Ia



AP
1) Tn — a+(n-1)d a= 1term
d = common
2§, =4 [2a +(n- 1)d]

difference
3) Sh = 2 [2a+(n-1)d] L= no. of tern

= last term




Refecltion
'?X.y) —nyaxis . p(-xy)
P(X,Y) _m_x_ai(Ls___%P' (x’-y)
P(x’y) in Origin 5 PI ('X,'Y)
P(x.v) parallel to y axXISp: (-x+2a,y)




parallel to
P(x,y) x axis »

%

pa;aal)l(?é 10 parallel

/

(x,-y+2a)

O X axiIs



S
e
C
t
To
nf
0
r
m
ul
a

A __m P = n
(%,
¥)
M
)
n
(xz-B
y)

m
.
I‘II‘I)(
1
Y

my.+nY,
+

m
+N

X




Distance formula
P Q
(x1 2 ) ( xzvyz)

PQ = KXHEI)



Mid point formula

S | B = | p—
&u)ﬂ) (X,y)

X= X+ X y=y. 7Yy,
2 2







Ratio when divided by axix

(X,0

'%XI 'M) y=KY,*V




line when passes through point

and cut axes , divided by ratio
40,y)

. 1(x.y)

A

(x,0)




line when passes through point
cut axes and divided into equal points

{0,y)

.(x,y)
Alx,C




Equation of line

m= slope
C =V intercept
‘ = inclination

eq of line >
y= MX+C
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quation of line passes through
two points
\

: (%2.%9)




Formula for finding Slope

m =Yy, '_Yz If eq of line is ax+by-=c
X X, then

m = tang (8<90°) m=-a/b
m = - tan(180- 6)



two conditions

when two lines are parallel
then

m:=m,

A0 AQG




When two lines are perpendicular

to each other
| m—|X m2= _1

/A




